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530339 5 = BN 51 T3 10.0 ng/l + PGRs 351387 6 = 18n%1551 14514 100 ng/l + PGRs

A334359 7= U5 A TuaAsseEs 10.0 ng/l + PGRs
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ﬂiilﬁ%ﬁ 1 0.29b 90.18 ab 152.70 d
n3513E1 2 0.27b 77.05b 214.76 a
ﬂﬁim%%’ﬁ' 3 0.28b 76.40 b 151.36d
ﬂiim%%‘ﬁ' 4 0.27b 102.55 a 179.03 ¢
35135 0.37a 100.26 a 187.05 be
35133 6 0.37a 107.59 a 180.71 ¢
n35M3EN 7 037a 89.03 b 206.52 ab
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ANVIYOTU 95 % 1A8IT LSD

¥ mamugumansaavla (PGRs)U5znoudas 50 ppm GA, + 100 ppm NAA + 2.5 ppm 6-BA
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NITNITN 1 = U1 (MUAY)

N354750 2 = PGRs

AT5UATN 7= ud TuaiAeseed 10.0 ng/l + PGRs

ATINATN 3 = @naiis Tosu 0.1 ng/l + PGRs  N350IBN 4 = 1851051 T4 1.0 ng/l + PGRs

ATTUATN 5= 1@nadis Tosu 10.0 ng/l + PGRs N331351 6 = 1@A1551 1w 100 ng/l + PGRs



